)8'(3 LOQYLWD D
KDUOD "3URSXHV
UHYLVLRQDO GH
RRUGLQDGRUD 1:

b
&
3
&

([SRQHQ /8,6 0(6,1$ 9RFHUR GH OD &RRUGL
12 $)3 \ 25,(77%$ )8(1=%/,'$ 9LFHSUHVLGHQF
GH $1()

} 1 9 ) 7 $ & y 2

(VWLPDGRV DV 6RFLRVY \ 6RFLDV GH $)8'(

/D DFWLYLGDG VH OOHYDUI D FDER HO PI
D ODV KRUDV HQ HO $XGLWyUL)>
"HIHQVRUtD 3HQDO 3~EOLFD $ODPHGD

(O LOYLWDGR D H[SRQHU /XLV OHVLQD 9
12 $)3 \ OD 9LFHSUHVLGHQFLD GH 3UHY
)XHQ]DOLGD

(Q OD RSRUWXQLGDG WDPELPpQ VH H[SO
SODWDIRUPD LQIRUPIWLEFED TXH SHUPLWH
SURSXHVWD \ FRQYHUVDU VREUH HO SO
SDUWLU GHO GtD GH VHSWLHPEUH

3DUD UHJLRQHV $)8'(3 VH FRQHFWDUIi D
O9LGHRFRQIHUHQFLD

5SHFLEDQ XQ FRUGLDO VDOXGR
' 5(&725,2 1$&,21%/ $)8'(3

6DQWLDJR GH 6HSW

$)8'(3



